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General Instructions:
() Answer to questions carrying 2 marks should not exceed 30 words each.
(i) Answer to questions carrying 4 marks should not exceed 60 — 80 words each.
(i) Answer to questions carrying 6 marks should not exceed 100 — 125 words each.
(iv) Maps should be securely tied in the middle of the Answer-Book.
(v) Attempt all parts of a question together.
(vi) Stencils or templates for drawing outline maps may be used wherever necessary.
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Define the term ‘economic development’. Statetthie bases of measuring economic
development of a country. 1+1=2

‘e famre e o afdmer G| feet 39T % oY faera @& 9 & &1 Smemd @t
Il BT |

Who is a disabled person ? Gomeeexample each divo types of disabilities. 1+1=2

e =afaa fopd wed € 7 g TR FI fahaiaretl &1 Ueh-Ud 3Sel0T &ifeiT |

Write anyfour facts about tsunami. 4xYp=2

gl & fau 9 9R qeg g&gd i |

Explain how Indian industries and trade had been ruined under the British rule in the
eighteenth century. 2

fafesr omas & o1l YRAT ST SR AR SeRed! Idr=l § fha YeR d91E & 1T ?
T HIT |

Explain anytwo main features of Harappan culture. 2x1=2

BTUA GBI I fobel d1 &I faQiudrat & & Hifod |

Name the northern, eastern, southern and western nlost stations of Golden
Quadrilateral express national highway. 4xY5=2

Qi IqehoT THRYE TS TEMN & g8 Sadl, IdT, el a9 9fyes ReEt & AW
AT |

How do the means of mass communication play a vital role in creating awareness
among the people ? Explain. 2

FAEAR & e O YR @l § SeTedhar YaT e § weeger yfteer e ¥ 2 e
T |
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8.

10.

11.

12.

13.

Identify and name the social reformer shown in the picture given below. State any
two contributions made by him. 1+1=2

IR A T AW GURH & TER B TS0 R IFH1 W fafgw | S el &
TS T S it |
Note: The following question is for tH&lind Candidatesonly in lieu of Q. No. 8.

de ;. frefatad 99T daa g qlenfia & fau usT 9@ 8 % w=H W 8|
State anytwo contributions of Ishwar Chandra Vidyasagar in reforming Indian

society. 2x1=2
ARA FAN & FOR H 39 I% @R & {6l gt aREHl &1 Swi@ ity |
‘India is a multilingual country’. Justify the statement vxtlo arguments. 2x1=2

‘IR TEUTHT I 2V Q qb I TH HUT Bl gfee ity |

“Wells and tube wells are the most popular means of irrigation in northern plains of
India.” Justify the statement witivo arguments. 2x1=2

“Hl R el HW URA & T Herl H 4EE & qEE SAfen diehiuy wqe| €17 & b
THX T HIT B AFETT gfte Hif

“Health sector interplays the most significant role in human development.” Justify
this statement wittwo arguments. 2x1=2

“ETEe & w1 AT faeE ¥ gaffes eyl aReH § 17 & ae gied S8l s
gfte i |

Suggestwo facts which should be borne in mind while selecting a site for a building
in coastal areas. 2x1=2

qHE e & § TR a9 % (00 T R T B g9 A H WA A a de&
AR |

Describeanyour characteristics of subsistence farming. 4x1=4
OR
Describe anyour steps taken by the Government to improve Indian agriculture after
Independence. 4x1=4
T et HY &t el IR fasioanstt &1 avie ST |
AT

Al & 916 R4 FU H gUR o SR &R 3o U fhl 9R SUTEl &1 aui g |
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14.

15.
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17.

18.

19.

20.

Describe anyour major problems faced by cotton textile industry in India. 4x1=4

IRA | gl a8 TERT & qHe YR {hel AR YH@ FHESA &l 99 i |

Describetwo different approaches by which the number of the poor are estimated in
the country. 2+2=4

R M EA T2 WS £ G o R 1 1 o MR R A e e e el

“The revolt of 1857 marked a turning point in the history of India.” Support this

statement by givinfipur facts. 2+2=4
OR

When was the Muslim League formed ? Explaithitse main objectives.

“1857 % WEIdale ¥ ARA & Siae™ H Udh 47 Wg 3747’ R 0% <d g0 39 %A &l

gfte i |

sgar
ARAT AN I TAUAT HF T8 7 T A 9e9dl Bl W i |

“Coal is the main source of energy as well as a raw material for industries in India.”
Support this statement wittvo facts for each. 2+2=4

“URA | B HoIl B & A e & QE-ag AR & g wer a9 517 yds
& foro -8t d I T T FAT A gt FHifg |

How does communalism pose a threat to our national unity ? Explain. 1+3=4

IR ST T ThdT & U e YR gAifadl I&d &l & 7 T i |

Explain the term ‘Veto’. Name arfgur countries which have veto power. 4x1=4

foenfarpr (9121 St &1 ol T HIfST ) i g aRe R IR Sl & AW Sarsy |

How is disaster managed at different levels ? Explain with one example each, from
anyfour levels. 4x1=4
OR

Explain anyfour objectives of a search and rescue team.
STIeET geed = &R W e y@R fFar Sar & ¢ el R W 8 US-UE are
30 BT W HINT |
Agqr
Gl 3 q919 A @ el aR Ie9di Bl T By |
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21.

22.

23.

24.

When was Indian National Congress founded ? Who played the most important part

in its formation ? Describe the main objectives of the Congress. 1+1+4=6
OR
Describe angix factors that were responsible for the rise of ‘extremism’ in India. 6x1=6

ARA TS BT Hl AT FF g5 ? THH T0AT | fohee da9 Afere wecaqot qiier
e 2 " & g Il w1 AvH RN |

gt
IR § TRHUT & Sag &b Sl [hel B: BRI B AU BT |

Why is the conservation of resources essential ? Explainttaey measures of
conservation of resources. 3+3=6
OR

“Water is a very important and critical resource in India”. Support this statement by
explaining anyhree points of each. 3+3=6
GETEHT T TR0 T AETD & 7 GATEHT & T & (ool i SUTAl bl ST BT |

AT
“URT H ST 98 ol "yl R bk |Ered &1 Ud @ fau fheel i fagett
F ATAT Fd B0 34 HIT Dl e Hifog |

Explain with suitable examples the impact of the expansion of business activities in
an economy. 6
OR
Why is the rise of consumer awareness essential ? Explaifoanymeasures to
protect consumers’ interest 2+4=6
fopit srefegeen 4 @AM fhar-hamdl & R & YWEl Rl SugH el BRI W
BT |
AT

STHIHEIAT § ANTERAT S~ el Fl AEH & 7 IUHRHISA & fodi Sl & & hral R
IUET T T T |

(@ (@) Onthe given political outline map Ipfdia, the place is shown by No. 1, where
Congress was split in 1907. Identify the place and name it on the line drawn.

() On the same map shade and name the state where Jallianwala Bagh
incident occurred. 1+1=2

(b) On the given political outline map @idia, four geographical features A, B, C
and D are marked. Identify these features with the help of the map key and
write their correct names on the line marked against each in the map. 4x1=4

OR
On the given political outline maploidia locate and label the following features:  4x1=4
() Kanpur - Cotton Textile Centre
() Kaiga - Nuclear Power Station
(i) Haldia - Oil Refinery
(v) Kandla- Seaport
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(@) () U U 9RA & ToEiaE @RS § G el 1 ER 99 &l e wr
& STt 1907 § HUH HT fI9ST g1 | I &I GG 3R 3§ &I &H M
AR W diE T @ | |
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srgar
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Note: The following question is for thBlind Candidatesonly in lieu of Q. No. 24
(a) and (b). 6x1=6
() Name the State where Jallianwala incident occurred.
() Name the place where Congress was splitin 1907.
@)  Which is the leading coffee producing state ?
(v) Which is the eastern terminal station of ‘East-West Corridor’ ?
(v) Name the international air-port located in Gujarat State.
(vi) Name the Software Technology Park located in Uttar Pradesh.

e : frfafad U9 aa gited qhenfiat & faw ye d@m 24 (31) iR (9) & @™
W 2
() Sfcatamar anT ger g T gied g8 ¢
(i) ST TE B AW FARY A&l G 1907 H BT F [qHRE g3
(i) AT B FEE TG IUEH T HF AT T ?
(v) ‘gd-ufya e’ &1 oifaw gt R & a1 § 2
(V) TR TS H TG SRS A Bl A qdrey |
(V) ST Yoy § Red aredsy GEifiehl Utk & 19 Sy |
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Q. No. 24 (a)
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Q. No. 24 (b)
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